  p1,k1,a1






p2,k2,a2

1.  a1=a2, k1=k2, p2>=p1

   L = p2 – p1

  p1,k1,a1| p1+1 |                  ...                    | p2-1 |p2,k1,a1

2.  a1=a2, k2>k1

L = ∑ lki      + lk1-p1 + p2 = ∑ lki    + p2 – p1  

    i = k1+1,k2-1   

           i = k1,k2-1   
  p1,k1,a1| p1+1 | ... | lk(k1,a1) | k1+1  | ... |  k2-1 | 1 | ... |p2-1 | p2,k2,a1

3.  a2>a1

L = ∑ lai  +     ∑ lki    +   ∑ lki  + p2 - p1

    i = a1+1,a2-1     i = k1,12         i =1,k2-1
  p1,k1,a1 | k1+1 | ... | 12 | a1+1 | ... | a2-1| 1 | 2| ... | k2-1 | p2,k2,a2

Liigaasta tunnus:

((a mod 4 ) = 0 ) and (((a mod 100) != 0) or ((a mod 400) = 0)))

